Тест №3

для студентов экономических специальностей заочного факультета
Прочитайте текст и выполните задания после текста
BANK ORGANIZATION

1. The way in which a bank is organized and operates is determined by its objectives and by the type of economy in which it conducts its business. A bank may not necessarily be in business to make profit. Central banks exist to increase the economic growth of a country and to raise the living standard of its population.

2. The aim of commercial banks is to earn profits. They therefore provide and develop services that can be sold at a price that will yield a profit. A commercial bank which provides the same range of services year after year is less likely to be successful in the demand for its products and which tries to match products to its customers’ needs.

3. New services are constantly being introduced and developed by commercial banks. The full-service philosophy of many banks means that they are akin to financial supermarkets, offering a wide variety of services. However not every bank may want to offer every kind of financial service.

4. Many banks offer a combination of wholesale and retail banking. The former provides large-scale services to companies, government agencies and other banks. The latter mainly provides smaller –scale services to the general public. Both types of banking have three essential functions, which are: deposits, payments, and credits. These three functions are the basis of the services offered by banks. They make it possible for banks to generate profits and to achieve their operating aims.

5. Several factors have combined to make banking an international business. These include the growth of multinational companies and international capital, markets, the increased competition between the banks themselves and important improvements in communication and transportation.

6. The major banks of the world have established extensive international operations by acquiring banks in other countries, by extending their own branch network abroad, and by establishing correspondent relationships with foreign banks so as to develop profitable joint operations. The operations of these major commercial banks are dynamic and rapidly changing and their organization is of a global nature.

Ex. 1 Определите, соответствуют ли данные предложения тексту или нет (True/False)
1. The way in which a bank is organized and operates is determined by the type of economy in which it conducts its business.
2. The aim of commercial banks is to provide credit.

3. The major banks of the world have established extensive international operations by acquiring banks in other countries. 

4. The operations of these major commercial banks never change.

Ex. 2 Выберите правильный вариант ответа на следующие вопросы в соответствии с текстом.
1. What is the aim of Central banks? 
А. To increase the economic growth of a country.

B. To raise the living standard of its population.
C. Both of the above.

2. What does the full-service philosophy of many banks mean? 
A. It means that they are akin to financial supermarkets, offering a wide variety of services.  
B. It means that they should support the government.

C. It means that they provide full service. 

3. What services does retail banking provide?
A. Large-scale services to companies and government agencies. 
B. Smaller-scale services to the general public.

C. Services to other banks.

Ex. 3 Выберите правильный вариант перевода.

1. They therefore develop services that can be sold at a price that will yield a profit.
А. Они таким образом разрабатывают услуги, которые могут быть проданы с выгодой.  

B. Таким образом, они создают услуги, которые можно продать по цене, которая принесет доход. 

C. Там они создают услуги, что может продаться и принести доход. 
2. They make it possible for banks to generate profits and to achieve their operating aims
А. Они позволяют банкам приносить прибыль и достигать цели своей деятельности.
B. Они делают это возможным для банков приносить прибыль и достигать цели деятельности. 

C. Это делает возможным для банков генерировать доход как цель совей деятельности. 

3. The major banks of the world have established extensive international operations by acquiring banks in other countries.

A. Основные банки в мире провели широкие международные операции по приобретению банков в других странах.
B. Главные банки мира установили обширные международные операции через приобретение банков в других странах. 

C. Самые крупные мировые банки сделали возможным проведение обширных международных операций в результате приобретения банков в других странах.

Ex. 4 Вставьте в предложения слова в соответствии с текстом.

1. A bank may not necessarily be in business to make a __________.

A. transaction
B. operation
C. profit
2. A commercial bank which provides the same range of_________  year after year is less likely to be successful.  

A. services
B. profit
C. credit
3. Many banks offer a combination of _________  and retail banking.

A. wholesale
B. central
C. public
4. The major banks of the world have established extensive international operations by extending their own __________ network abroad. 

A. branch
B. service
C. field 

5. The operations of these major__________ banks are dynamic and rapidly changing and their organization is of a global nature.
A. central 

B. retail
C. commercial
